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BLM 2—4 Section 2.2 Extra Practice
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d) No corresponding point exists.
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b) domain: {x |x € R};range: {y |y € R}
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) domaia: {x|x2 4. x =R}
range: {y |y =0,y € R}
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dpmain: {x|x 29, x € R} range: {y |y 20,y R}
6. a) y=x+ 5 domain: {x |x e R},

range: {¥ |y € R}, V=+/x+5 : domain:
{x|xz-3, xR}, range: {y|y20,v R}

b) 1= 3x - 9: domain: {x |x € R}, range:

{¥|y €R}; y=+31-9 :domain: {x|x:3,x R},
range: {y|y=0,y= R}

€) y = —x— 10: domain:

{x|x R}, mange: {y|y €R}; y=+-x-10:
domain: {x |x=-10,x €R},

range: {y|y= 0,y R}
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T.a)domain: {x |x=—dandx =4  x € E}; 9.a) P ¥
range: {¥|¥= 0,y € R} | M y=xthxm |
b) domain: {x|x € B}; range: {v|y= «Jrﬁ_, reR - 204 d
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b) Example: The graph of v = x? + x — 20 has
v-values that are less than zero for values of x
between —3 and 4. Therefore, y=afx" +x-20 is
undefined for this interval of x.

10. g) Example: all points that have a y-value

of Dorl

b) Example: all points that have a negative y-value
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